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< 19,000
s 23,250
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& 19,000
= 19,000
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ANEE tEdEg 2 2l 91,000 8,840 82,160
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01 AR 2t el 7,000 3,840 3,160
Octdze| A&l M 50,0003 * 40% 2,000
Oetatzs =M 5,000,000& * 14 5,000
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01 =LAl 2,400 0 2,400
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02 QLB AAIHEX 109,000 0 109,000
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200,000 * 5459 109,000
T tor & 22| 434,939 1,248,783 A813,844
CCTVEE2MHEH 23 434,939 1,248,783 813,844
CCTV SE&Hdy 29 22 434,939 1,248,783 813,844
101 el4 4| 154,267 479,399 A325,132
04 DIt 22 UHEES 154,267 479,399 £325,132
OSE2HUH 2HRI 22| 154,267
oJlEs 60,2408 *» 52! x 275¢ 82,830
O=Y(FE, EX, 02+, §2)
60,2403 = 52! * 165 49,698
OFEHHZ 400,000& * 591 = 23| 4,000
O4UHEE 2E=  180,000,000&  9.8547% 17,739
201 et2Hd| 279,672 269,384 10,288
01 AR 2teldl 9,000 9,000 0
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201 L EH2 Y| 14,224 14,200 24
01 AtR22teltl 14,224 14,200 24
Olger+=ghl] 10,000
ORNSEIEHH & 10,000,000& * 14! 10,000
Ol=el] 4,224
ORMNSSIEWUAL 8,000& = 42! » 132 4,224
202 044l 5,000 5,000 0
01 = LHO4 HI 5,000 5,000 0
ORN2Z WA & 20,0008 * 521 * 50 5,000
203 F R =&l 5,760 4,200 1,560
04 RA2IARFTH| 5,760 4,200 1,560
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AEHFEE D238y 17,346 16,776 570
201 2 Et2 A 13,346 12,776 570
01 At 2teltl 13,346 12,776 570
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202 o4l 4,000 4,000 0
01 = L4 4l 4,000 4,000 0
ORN2Z SHH A 20,000& * 421 » 50 4,000
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LHEHHXIE 500,000 490,000 10,000
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02 II3HES 500,000 490,000 10,000
01 JIsd&E23 500,000 490,000 10,000
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